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INSTRUCTION TO CANDIDATES

1. Immediately after getting the booklet read instructions carefully, mentioned
on the front and back page of the question booklet and do not open the
seal given on the question booklet, unless asked by the invigilator.

2. Write your Roll No., Answer-Sheet No.,
given above and put your signature.

in the specified places

3. Make all entries in the OMR_Answer-Sheet as per the given
instructions otherwise Answer-Sheet will not be evaluated.

4. After Opening the seal, ensure that the Question Booklet
contains total no. of pages as mentioned above and printin
of all the 200 questions is proper. If any dlscrepancx is found,
gﬁorkrln the invigilator within 15 minutes and get the correct

ooklet.

5. While answering the question from the Question Booklet, for each
question choose the correct/most appropriate option out of four
options given, as answer and darken the circle provided against
that option in the OMR Answer-Sheet, bearing the same serial
number of the question. Darken the circle only with Black or Blue
ball point pen.

6. Darken the circle of correct answer ProperIY otherwise answers will
not be evaluated. The candidate will be fully responsible for it.

7. Thereare 200 objective tyge questions in this Question Booklet.
1 mark is allotted for each correct answer and ¥ mark will be
deducted for each wrong answer.

8. Do not write anything anywhere in the Question Booklet and
the Answer-Sheet except making entries in the specified places
otherwise OMR Sheet will not be evaluated.

9. After completion of the examination, only OMR Answer Sheet and
cover page of Question Booklet is to be handed over to the invigilator.
Carbon copy of the Answer-Sheet and Question Booklet may be taken
away by the examinee.

10. This Question Paper consists of Parts namely :—

Q. No.
Part - (A) (i) General Studies -1-50
Part - (A) (ii) Mathematics -51-80
Part — (A) (iii) Mental Ability and Analytical Ability — 81 —100
Part - (B) Hindi - 101 -200

11. In case of any ambiguity in Hindi version the English version shall
be considered authentic.
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1.

PART - A (i)
ot — A (i)

GENERAL STUDIES
What is the rank of Chhattisgarh State

Power Generator Company Ltd. in
State sector as per report of Central
Electricity Authority New Delhi in the
year 2019 — 20 ?
(A) First

(B)

(C) Third
(D) Fourth

Second

Which of the following State of In
touches maximum State boundarie
(A) Karnataka

(B) Uttar Pradesh

(C) Madhya Pradesh

(D) West Bengal

Which of the following is not corr
about Teesta river ?

(A) Teesta river flows through Sikki
) It flows through West Bengal
(C) ltrises in Western Himalayas
)

It is a tributary of the river
Brahmaputra

.COM
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T A
T4 2019 — 20 H HE Terggd wiferemtor 8
foeeht it fUrd & SER ©. 7. W, 1. 9.
% s T g TR sFA @ 2 7

A o (IR § & HiH-T T ! S
STRreram T I HErst § e @ 7
(A) Hieh

(B) I weH

(C) 5= we

(D) ufvem sme

frefafea 4 s-on fier 76 & SR A
I G B 7

(A) e 7€) fafern & Bt s'dl 8
(B) g uflz=d sel | Bt Seedl @
(C) =g ufverft fgmrer @ fehardt &
(D) & SEIH TS ! Th HERIH A4l &

T & o o0 e
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4.

Indira point is located in which of the
following ?

(A) Great Nicobar
(B) Little Andaman
(C) Car Nicobar

(D) None of the above

Environmental Action Programme
(EAP) does not focus on

(A) Conservation of biodiversity
(B) Conservation of soil and moistur
(C) Control of industrial pollution a

waste
(D) Tackling of rural environmental
issues =

Among the following which one is
thermosetting plastic ?

(A) Polyvinyl chloride
(B) Polyurethane
(C) Polystyrene

(D) Polythene

Which statement is incorrect with®
reference to graphine ?

(A) ltisabidimensional substance havi
excellent electrical conductivi

(B) It is made of silicon having high
transparency.

(C) Iltisusedin LCD and LED.

(D) It is more harder than diamond.

32102/MB - BB/RCE - M

3fe wige fmferiad o | foreH o &

TR TR 9™ (EAP) = 4
o for8l wisd (=) & e @ ?
(A) S Tafaerar 1 geam

(B) wer ud FHt w1 TE

(C) ST=NRT JGYUl Ta {ATRTe WX o=y

(D) wmior wtevfi ggi & fued &

=1 o Tem He-H1 Tk YA Wi § ?

(A) UrehifamTEa FARss
(B) uleiRReA
C) qwﬂwraﬂ?
(D) dieftefH

—

THH % Fed HH-d1 HoF T8 T8 & 7

A) =g fgamamia wered 2 frwehl <
TTeTehdT 399 & |

(B) =g 3= UReRiare fafereria @ ffda
B 2

(C) 35 399 LCD Wa LED H &iam 2 |
) I ER I g1 H SATET HoR 2 |

T & & foru wom
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8. Hypokalemia is due to deficiency of 8. BIEUIhaIT = & rft & ST Bt B
(A) Sodium (A) Fifszm
(B) Iron (B)
(C) Calcium (C) hafrm
(D) Potassium (D) diefrm

9. What will be input subsidy granted per 9. 99 2021 — 22 & faU BTG TWHL 5
acre to farmers by Chhattisgarh Go g7 ReaHT I U Tehe Reaet Y TERIAl
for the year 2021 — 22 ? E & et >
(A) 10,000/ O (A) T 10,000/
(B) ¥ 9,000/- O (B) ¥ 9,000/-
(C) 9,500/ = (C) 9,500/
(D) None of the above ie— (D) Ul H U HiE TE

10. What is the percentage of Reser@ 10. GG TS H, ol IHTeSIC & | AT

Forest in total forest covered areasi o 1 eI R 7
Chhattisgarh ?
(A) 44.2% (A) 44.2%
(B) 43.13% Q (B) 43.13%
(C) 40.22% @ (C) 40.22%
(D) 16.65% . (D) 16.65%

11.  Whatis share of major minerals in Gr 11. a§2020 — 21 T BTG o Hot T 3T
Revenue Income of Chhattisgarhi # et wfiet b o R

year 2020 —21?

(A) 92% (A) 92%

(B) 94% (B) 94%

(C) 96% (C) 96%

(D) 90% (D) 90%
T & o o0 e

Space for Rough Work
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12. New industrial policy of Chhattisgarh
is related for the years
(A) 2018 to 2024

(B) 2019 to 2024

(C) 2020 to 2025

(D) None of the above

13. Which of the following Buddhist mo
has advised Kaniska to convene
4 Buddhist council ?
Nagarjuna
Parsva

Aswaghosha
Vasubandhu

12.

13.
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SlETe <l 78 3Nfies ifd o wrse foraa
AR ?

(A) 2018 & 2024
(B) 2019 & 2024
(C) 2020 % 2025
(D) Wi H & g T

frm sitg Ty 7 wiss 1 =l gfgs
gyt g &1 germa feam o 7

(A) AT

(B) urd

(C) 3reTey

(D) =gsy

14.  After which battle Humayun crosse 14. 58 45 % 91 A A Th ToA-Tehed!
the Ganges with the help of a 6T Tee T T T B IR fRAT o7 ?
water-boat ? '

(A) Bilgram (A) Toemm
(B) Kannauj (B) =t
(C) Chaussa (C) =&
(D) Ghagra (D) =FE

15.  Who of the following founded the 15. Trafafea o @ fham 1887 1§ wredan wum
Prarthana Samaj in 1887 ? 6T TATIAT bl oft 7
(A) Atmaram Pandurang (A) SATHT ZTT
(B) Dadoba Pandurang (B) <IESIaT UIgdT
(C) Gopal Ganesh Agarkar (C) YT OIS 3T
(D) Jyotiba Phule (D) faaT ot

T & & foru wom
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16.

Match List — A with List — B and select
the answer from the codes given below
the Lists.

List— A List—-B
1. Mitra Mela (1899) a. Lala Har
Dayal
2. Anushilan Samiti b. Rashbehari
of Dacca (1902) Bose
3. Ghadar Party (1913) c. Savarkar
Brothers

4. Indian Independence d. Pulin Das

League (1942)

(A) 1-c,2-d,3-a,4-b
B) 1-b,2-¢,3-d,4-a
(C) 1—-c,2-d,3-b,4-a

(D) 1-b,2-a,3-c,4—d

.COM

thé obsyoqi

16.
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T — Al =t — B9 firemsd sk gt
% = fou o s # @ w3 g |

T - A Tl - B

1. i oo (1899)  a. TeT & A

2. @Rl I e b, TEeE 9|
gfufa (1902)

3. TR U (1913)  c. G 9Y
4. 3fe7 sfefieg d. qfe @
T (1942)

(A) 1-c,2-d,3—-a,4-b
B) 1-b,2-¢,3-d,4-a
(C) 1—-c,2-d,3-b,4-a

(D) 1-b,2-a,3-c,4—d

17.  In which mineral product Chhattis 17. foa @i sar 4 sdiee &1 9yra |
has more share in India ? facm 1R 2 7
(A) Coal (A) ST
(B) Iron-Ore (B) wiE-31a%h
(C) Lime-stone (C) =T-Het
(D) Bauxite (D) EIEIE
T w1 % foru wem

Space for Rough Work
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18. When was the political organization 18. 3H TSI H USHIfdesh e e S’ 99
‘State Congress’ established in this zoTfir =% 2
State for the first time ? A e §'§ '
(A) 1938 (B) 1922 (A) 1938 (B) 1922
(C) 1930 (D) 1940 (C) 1930 (D) 1940
19. When did the Government dissolved 19. HfeT T T I B T ELHR
‘Raipur District Council’ after the start 3 T e wiftet <t e A fom o 7
of Civil Disobedient Movement ?
(A) 13 April 1930 (A) 13 3731 1930
(B) 21 May 1930 (B) 21 4% 1930
(C) 2 June 1930 (C) 2311930
(D) 12 June 1930 (D) 12371930
20. What is the answer of the following 20. Ty=fafad S (Tge)
riddle ? Trrep oS gann 3re e el o o
‘Nankun Chirai duwa asan Pet Kah — af;I R
Jabe Chirai Ratanpur des’ X '
(A) Gram (Dal) in Batlohi (Pot) (A) weeiiel | el
(B) Letter (B) ==
(C) Birdin atree (C) us w fufga
(D) Star . (D) ama
21. Dandakaranya is not situated in wh 21. cewnuy fAHfafgd ¥ 9 fora T=a # fera
of the following State ? e,
(A) Chhattisgarh (A) BHETE
(B) Odisha (B) 3tifgm
(C) Andra Pradesh (C) 3Ty e
(D) None of the above (D) 3% H A B &
T & & foru wom
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22.

23.

24.

25.

Lord Ram entered Chhattisgarh
through which district ?

In which year ‘Human Developme
Report’ “Multi-dimensional Poveg
Index (MPI)” is implemented ?

(A) 1997 (B) 2005
(C) 2010 (D) 2015 Q

When “National Rural Employm
Guarantee Act” is given new na
as “Mahatma Gandhi National Ru@
Employment Guarantee Scheme” “

(A) September 2005
(B) February 2006
(C) October 2009
(D) October 2007

O

In which year the growth rate of GS
of Chhattisgarh in constant price h

22.

23.

24.

25.

32102/MB - BB/RCE - M

WEE TH 3 SdiEe d frd Sl @ yaw
fopam o 7

fope o & ATe forsbrar fetd” o
“Tg- TR U Faehieh” Sl STOATT
=& ?

(A) 1997
(C) 2010

(B) 2005
(D) 2015

S “TSI TTHIOT USTIR TRET ST
FT AT “TEgTedt et TS amefier TR
MR A Tz mm 2

T 2012 — 139 99 2020 — 21 6t 3@y
H SETE o Tohel U9 T 3cE hl (g

been negative during 2012 — 1 o fRR Hiudl W R a¥ T @R 7
2020 -217 )
(A) 2013-14 (A) 2013-14
(B) 2016 -17 (B) 2016 —17
(C) 2019-20 (C) 2019-20
(D) 2020 - 21 (D) 2020 - 21
T & o o0 e

Space for Rough Work
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26. Which sector is not part of secondary
sector in Chhattisgarh economy ?

32102/MB - BB/RCE - M

26. e daET ° SiH-a1 & fediEes
&7 I W & @ ?

(A) Manufacturing Sector (A) Tafmior &=
(B) Construction Sector (B) fomfor &=
(C) Electricity, gas and water supply (C) foegd, M wa S« Imyfd
(D) Mining and quarry (D) & Td G
27. Who of the following presided over the 27. TmafaRea @ & fhaa 1947 7 3feam Teme
session of Indian National Congress HIUY hI eI S off 7
1947 ?
(A) Jawaharlal Nehru (A) AT d8%
(B) Acharya Kriplani (B) =T HUAH!
(C) Dr. Rajendra Prasad (C) . Telg yHTe
(D) Maulana Azad (D) =AM 3TTTE
o) ‘ ~
28. “A majority of the total membership'g 28. “Ush Gehed I Ta8Tsh HEE & IIh T
the house and a majority of not lg ¥ gt @ % oY @t H $o de
than 2/3 of the rperr_wbers qf the hou . — E S T e
present and voting is required to pas . )
a resolution or a bill from the ez El'lﬁlﬁ“@ﬁ T 2/3 FEA I 2|
houses of parliament”. 34 Hed | gafea #m 8 7
In this context which are matching @ J
i. Constitution Amendment Bill I wfeur wene fadas
i. To approve the resolution of « Il ST PG SGETTOT %l STHICH T
emergency proclamation bl Hehed
ii. A resolution to dismiss a judge(™] i, Fel=e =TT % Th AR B
of Supreme Court qe=qd h{ bl Hehed ‘
iv. A resolution to dismiss the iv. Tsgald =l Yg=gd L T Fehed
President
(A) | (A) |
(B) i, ii (B) i, i
(C) i, ii, il (©) i, ii, i
(D) i, ii, iii, iv (D) i, ii, iii, iv
T & & foru wom

Space for Rough Work
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29.

30.

31.

On which matter the both houses of
Parliament has equal rights ?

i. Topassa Constitution Amendment
Bill

ii. To pass a dismissal resolution
against President

iii. To pass a dismissal resolution
against Vice President

iv. To pass a Finance Bill

w -
B) i, ii O
(C) i, ii, iii O
(D) i, ii, iii, iv =

(A) Itis a Natural Right
) Itis a Fundamental Right
(C) ltis a Constitutional Right
)

Itis a Legal Right

O
@,
O

A certificate showing that a governm

32102/MB - BB/RCE - M

29. form fosa & Hoe & THT Hedi & 3fer

HAHE 8 ?
i. gfaae gened faeges i s

ii. Tsgafa & fawg Te=gfa wew Tii@
T

iii. Ju-Tegufa % favg we=Afa dehed
AT ShTAT
iv. T fatees wif@ e

w

)

) i, i
(C) i, ii, i

)

i, i, dii, iv

THT U, S T8 TCRId hidl & foh e A1

or company has paid to have a cert HA Tl § Uk f[Afvad A ° e
amount gf carbor? dioxide remov SrasTETEe frsHfa w0 TR e
from environment is called

. Al 8, HEcATdl &
(A) Carbon foot print (A) wEA e B
(B) Carbon credit (B) hTeH shige
(C) Carbon dating (C) wrei efém
(D) Carbon index (D) hTEA 3edd

T & o o0 e

Space for Rough Work
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32. In November — 2020 which two super 32. 99 — 2020 ¥ %I9-¥ @ ¥Rd % g
computer of India ranked under top FIIH fova % gat=a 500 TR FPA 3
500 super computer of the world ? T R @ 7
(A) Pratush and Param Padam (A) YN Td TH 9
(B) Param-10000 and Param-8000 ( ) WE-10000 Td WH-8000
(C) Mihir and Param Siddhi (C) fufex wa ww fag)
(D) Param Yuva-2 and Param-8000 (D) W JAT1-2 Td TWH-8000
33. Of the following Indian Satellites 33. o wRd 3wl ¥ | SH-|1 U TV TumHl
which is intended for transmitting % G99 <k foru S7fyS femam ¢
TV programmes ?
(A) INSAT-3A (B) INSAT-A A) 382 -3A (B) 2 -A
(C) INSAT -3C (D) INSAT-3E ) e —3C ) $9¢ —3E
34. Who of the following establishecdkt 34. HIEATE 1 <A Tohe TeuTfuq foha ?
philosophy of Syadwad ?
(A) Parsvanath (B) Mahavir A) T (B) e
(C) Neminath (D) Anantanath (C) =i (D) Y
35. Whattype of song is ‘Mangrohan So 35. 39 USH ol ‘WA M fohe TJehl <1
in this State ? fiag?
(A) Ceremonial song (A) T&hR Tfa
(B) Festival song (B) %f Tﬁ?—r
(C) Romantic song n (C) a7
(D) Religious song (D) ﬂTﬁq%B i
36. Which poet of this State has w 36. 39 UST & [ohH Shid ol T BATGI -
‘Chhattisgari Suraj’ ? ST 2 ?
(A) Giriwardas Vaishnav (A) firfatem dwmg
(B) Pt. Kapilnath Mishra (B) . iyery fas
(C) Babu Bodhi Singh ‘Prem’ (C) =g =ieht &g sw
(D) Keyur Bhushan (D) R Ul
T & & foru wom

Space for Rough Work
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37. Under which tree ‘Sarhul’ festival is 37. 39 USY 6l 3UA SN ‘W’aﬁm%&r
celebrated by Oraon tribe ? g5 ST E Y
(A) Sal (A) &
(B) Peepal (B) dius
(C) Bargad (Banyan tree) (C) wuTq
(D) Awnla (D) 3HTeet
38. Who of the following is the main Gld 38. 39 TS o Tfefigt STt & Y@ <
of the Birohar tribe of this State ? HEE?
(A) Shiva (B) Sun (Suraj) O (A) T (B) &
(C) Brahma (D) Bhim . (C) w&m (D) o™
39. On which matter the both houses 39. fom fawar o v fagmmvear & A1 we
State Legislature Assembled togethe Tk 919 93d § ?
i. Inthe occassion of special addr i. TSUTSl & STUHTHT o TEE W
of Governor
i. To consider the deadlock o ii. dfaetie Tmem faggs ° TomEg
Constitutional Amendment Billo R o= %@
iii. To consider the deadlock og jii. TTYRor faeTes O ey W faEm
Ordinary Bill 7d
iv. To consider the deadlock CE iv. T faeaes & Tormet W fa=m &g
Finance Bill
(A) i b (A) i
(B) i, ii (B) i, ii
(C) i, ii, i (©) i, ii, iil
(D) i, ii, iii, iv (D) i, ii, iii, iv
T & o o0 e
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40. |If the strength of a State Legislative 40. aﬁwwﬁwwaﬁﬁwm
Assembly is 50. Then what shall be
quorum ? 50 &, I Tl feRerT BT ?
(A) 5 (B) 10 (A) 5 (B) 10
(C) 26 (D) 17 (C) 26 (D) 17
41. Prime Minister Narendra Modi’s vision 41, U TEEHIG 1 e & -
is —which statement is correct from the A P-TT R TR 2 7
followings ? '
(A) To make India 5 Trillion dollar (A) Y i 5 feferm srer srderemen
economy T
(B) To make self-reliant India (B) ATeq-FR 9Ra s
(C) To make farmer’s income doub (C) fTermmi &t 31 i gﬂqﬁ ST
(D) All the above (D) vk |eft
42. World Economic Outlook (WEOQ) 42, fava amfoes ufiged 9 3AN @R 7 6
estimated that India will become ¥ 2019-20 T TR T TR & SR
largest economy of the World; in ter &% &9 H 9Rd favag EC)|
of US $ in the year 2019-20. FIEET & SR
(A) Fourth largest Economy (A) =qd St rfeaEen
(B) Third largest Economy (B) Tt St Ireierawen
(C) Fifth largest Economy (C) U=H s<I refeaen
(D) Sixth largest Economy . (D) B3t gt refeaEen
43. Who was the author of ‘Tabagat 43. ‘q¥HId AR 1 i@ iF o7 ?
Nasiri’ ?
(A) Hasan Nizami (A) 7o
(B) Minhaj-us-siraj (B) fre™-3u-faus
(C) Abu Bakr (C) 3 &ish
(D) Amir Khusrau (D) 3R gud
T & & foru wom
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44,

45.

46.

47.

Which of the following is the main
characteristic of Indian culture ?

(A) Federal characteristic

(B) Provincial characteristic

(C) Central characteristic

(D) Unity in diversity characteristic

In which category “MSME” will
included in Industry ?

(A
(B
(C
(D

Manufacturing

Construction 8

Mining and Quarry

)
)
)
) All the above n —

O

On which river “Mini Mata Bango
Project” is constructed ?

(A) Mahanadi (B) Sheonath
(C) Hasdeo (D) Kelo

b

Which factor is responsible to redu@
the economic growth rate of India fr
(—)9.5 percent to (—)7.3 percent in

year 2020-21 ?

(A)
(B)
(©)

Higher growth rate in Agricult;,‘g_;
Higher growth rate in Industry

Higher growth rate in Service
Sector

(D)

Higher growth rate in Trade

44.

45.

32102/MB - BB/RCE - M

R Tl o1 e fomrsan Fefafe
T - 7 ?

(A) e farsrean

(B) et fersrean

“Hew, o7 Td TeA Soft & 3usd (MSME)”
3T o fomm 2oft o st fepw SR ¢
(A) fafmior
(B) fmim
(C) @ Ud I&@H
)

(D) Swd &t

“Torft AraT s aiESET foR A WSAREn
T g 7

(A) TEE (B) Ferery
(C) ®&ed (D) el
a9 2020-21 T TR 3rierere i 3rfien

Tl o (-)9.5 wfawa & (-)7.3 wfewra
T HH B o [T Hi-T1 Teeh ST
WY

(A) P H 3=3 Hgfg @

(B) &I ¥ 3= Tl

(C) @ & H =4 wglg &

(D) =R # 3I=a Tgfg X

T & o o0 e
Space for Rough Work
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48.
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Which statement is correct about 48.
agriculture in Indian Economy ?

TR STa § HY o Ty § HH-H1

HYT TE 7 ?

(A) Agriculture is the backbone of (A) HY IR Sreferaen $i fi 7 |
Indian Economy.

(B) Agriculture is the pivot of Indian

Economy.

Agriculture is an important

sector of Indian Economy.

(B) iy wret srefemaeen 61 g 2 |

(C) Y IR Ireferaea < Ush Waeaqul
SERS
(D) Y WA AR Sl STTcehT ol T8 3 |

(C)

(D)

Agriculture is the source of
livelihood of Indian people.

What minimum support price for pa 49. 99 2021-22 % foTt gl TepR o & o fofw
is fixed by Central Govt. for the y T oo = Reifa R o
2021-22 ? ~H o . 8
(A) T 1,940/- per quintal (A) ¥ 1,940/- vfd faaest
(B) ¥ 2,040/- per quintal i (B) ¥ 2,040/- ufd faaest
(C) % 1,990/- per quintal (C) % 1,990/- ufa faaeat
(D) % 2,500/- per quintal (D) % 2,500/- wfa fadest
Match List — | with List — Il and sel 50. ¥t — | ol T - 1| & gafod s fafafaa
correct answer using following code Hie ¥ T8 3T =TI Hifdw |

List — | List - Il = - | gt -l
National Green 1. 197 a. “vFel ¥ feerme 1..1977
Tribunal
Biodiversity Act 2. 198Q STETETEEfid T 2. 1980
Environmental 3. 2002 TR TIaRH Tae 3. 2002
Protection Act '

Forest Conservation Act 4. 201 BT HSTeTH TH 4. 2010
Water Cess Act 5. 1986 e TH TR 5. 1986
a b c d e a b c d e
(A) 3 5 2 1 4 (A) 3 5 2 1 4
B 4 3 2 5 A B4 3 2 5 A
(C) 4 3 5 2 1 (C) 4 3 5 2 {1
(D) 1 2 3 4 5 (D) 1 2 3 4 5

T & & foru wom

Space for Rough Work
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PART - A (ii)
T — A (ii
MATHEMATICS (i) o
51. Ifa:(b+c)=1:2andc:(a+b)=3:4, . Aca:(b+c)=1:2Wc:(a+b)=3:
then b : a is equal to % A b:a R
(A) 5:9 (B) 7:9 (A) 5:9 (B) 7:9
(C) 5:7 (D) 7:5 (C) 5:7 (D) 7:5
52. The expenses of A and B are in rafj 52. ATUIB S @ &l 3FIE 3:2 813,000 %.
3 : 2. A sum of Rs. 3,000 is equ FI 3T e UL fadi R S R
distributed between them. If A sa
Rs. 600, then B saves Rs. O e A 600 F. 1 T Fr %’ @ B
=d BT %,
(A) 600 (B) 900 ( ) (A) 600 (B) 900
(C) 500 (D) 400 - (C) 500 (D) 400
53. If a number is increased by 300 53. dfe T &I bl 300 S M ATl 7, df 98
becomes 130% of itself. The numberO @I &1 130% Bl ATl 2 | 98 9 &1 &
(A) 1,120 (B) 960 (A) 1,120 (B) 960
(C) 500 (D) 1,000 (C) 500 (D) 1,000
54. The decreasing order of Q 54. 23'5,21'2,21'5,2g %1 gdl 9 8
35 12 15 2 37 24 27 7
222 0 € 5 2 9% g O
37 24 27 7
() 235 515 ,2 512 ) 235 515 ,2 512
37 27 7 24 3.7’ g 7 4
@) 235 515 512 ,2 O B 238 515 512 ,2
37 27 247 L 37 27 247
2 1.2 1. )
©) 22 512 ,15 .35 ©) 22 515,35
7 24 27 37 7 24" 27 37
(D) 2E 21;5,22, 23—5 (D) 22 21;5,22, QE
427 7 3.7 2. 2.7 7 3.7
TF & % foTe T

Space for Rough Work
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55. 1+ L = 55. 1+ 1 =
2 2
1+ 1+
4 4
3+ 9 3+ 9
1+ T+
A 4 A 4
A - A) -
7 7
B 7 ®) 7
3 3
© 3 © 3
(D) None of these (D) 3 ¥ His &l
56. +/0.00002209 = - 56. +0.00002209 =
(A) 0.0047 (A) 0.0047
(B) 0.00047 (B) 0.00047
(C) 0.047 (C) 0.047
(D) 0.0407 (D) 0.0407
57. Which one of the following number 57. T § @ ®H- @@ 99 ¥ yura:
completely divisible by 99 ? faafa g 2
(A) 406089 (B) 114345 (A) 406089 (B) 114345
(C) 199155 (D) 137346 (C) 199155 (D) 137346
58. Which natural number is nearest to 58. 2515 % fshedd, 98 WTehd HE&AT 1 2,
2515, which is completely divisible by S 65 @ qouia: foefor & & ¢
65 ?
(A) 2535 (B) 2585 (A) 2535 (B) 2585
(C) 2510 (D) 2600 (C) 2510 (D) 2600
T & & foru wom
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59. The largest 5-digit perfect square 59. 5-37hi ATl TH TSI qUT o JTehfd
natural number is a8
(A) 95481 (B) 92416 (A) 95481 (B) 92416
(C) 99856 (D) 99946 (C) 99856 (D) 99946
60. 1If 30% of A =15% of B, B =20% of C 60. afc AI30% =B %l 15%, B=C = 20%
and A = x% of C, then the value of x is AT A = C %l x% &, a1 X 3l T &I
(A) 10 (B) 15 E (A) 10 (B) 15
(C) 25 (D) 12 O (C) 25 (D) 12
61. If thenumeratorofafractionis increasu 61. ofe Tk fir & 3791 1 140% ST ST 2
. - )
by 140 ./o a.n(.j the denominator of T EFN 200% TS AT 2, A IR
the fraction is increased by 200%, t 14
resultant fraction is H What is t fira 57 ST BTl 2| qd firar 7 & 7
original fraction ? er
27 20 27 20
A) 3o B® > (A) 5o (B) 57
18 . o 18 o 17
© 27 ©) 20 © 27 ©) 20
62. A man bought goods worth Rs. 6, 62. UH Afed 6,000 &. T I TEE @l
Zr;d f]OItd hglf of themtat a gtarl]n of 1|0 . wd et s 10% @1 W A" i | 9y
what gain percent must he se o &
remainder so as to get a gain of 289%=J e 1 T TS ST Al
on the whole ? Hehel W19 25% Bl 7
(A) 20% (B) 30% (A) 20% (B) 30%
(C) 25% (D) 40% (C) 25% (D) 40%
T & o o0 e

Space for Rough Work
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63. IfP=2x3x5x5%x7x7x7, 63. ICP=2x3x5x5x7x7x7,
Q=3x3x4x5x7,and R=HCF Q=3x3x4x5x7, IR = P ae
of Pand Q, then R =

Q =T H&TH TH9edh, d9 R =
(A) 420 (B) 1470 (A) 420 (B) 1470
(C) 245 (D) 210 (C) 245 (D) 210

64. IfLCMof Sand T =70, HCF of S and 64. I SAA T H LCM =70, STAT T A
T=5and S + T =45, then the numbe HCF = 5d1 S + T = 45, a9 &&md
S, Tare S, T?

(A) 17,28 (B) 35,10 (A) 17,28 (B) 35,10
(C) 25,20 (D) 14,35 (C) 25,20 (D) 14,35

65. If P = 0.02% of 100000 and Q ==2%% 65. Af¢ P =100000 3T 0.02% AT Q = 1000
of 1000, then which of the followingis Y FT 2%, q9 FeAfad T 4 S T & 7
true ?

(A) P>Q (B) P<Q (A) P>Q (B) P<Q
(C) P=Q (D) P+Q=2.0 (C) P=Q (D) P+Q=2.02

66. The principal that amounts to Rs. 1,3¢ 66. 5% T3halg TS QW Gl TN H T TUMT
in 2 years at 5% per annum compdtnge’ W, 1,323 B el geiee TR Bl
interest compounded annually is R D ’ B
(A) 1,050 (B) 1,200 = (A) 1,050 (B) 1,200
(C) 960 (D) 1,220 (C) 960 (D) 1,220

67. What is the difference between the j 67. 4% Jfd ¥ &9 & W 6,000 &. T I
compound interests on Rs. 6,000 for 199 T <Ishafg SIS ol 3TaC 5§ ITUHT
1 year at 4% per annum compounded . ejaﬁﬁzgc
yearly and half yearly ? 8 &, &

(A) 2.4 Rs. (B) 1.4 Rs. (A) 24=. (B) 1.4%.
(C) 2.0Rs. (D) 2.6 Rs. (C) 2.0%. (D) 2.6%.
T & & foru wom
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68.

69.

70.

The increasing order of

0.003, 0.0004, — 0.005, — 0.007 is
(A) —0.007,-0.005, 0.003, 0.0004
(B) —0.005, -0.007, 0.0004, 0.003
(C) —0.007,-0.005, 0.0004, 0.003
(D) —0.005, —0.007, 0.003, 0.0004

If 2x-1 4+ 2x+1 = 320, then value of xgi
(A) 3 B) 5 E

Q

The sum of two numbers is 42 am 70.
their H.C.F. and L.C.M. are 6 and 60 ™

) 7 (D) 9

respectively. The sum of the reciprdc
of the said two numbers is

68.

69.

32102/MB - BB/RCE - M

0.003, 0.0004, — 0.005, — 0.007 1
TR 3H &

(A) —0.007, —0.005, 0.003, 0.0004
(B) —0.005, — 0.007, 0.0004, 0.003
(C) —0.007, — 0.005, 0.0004, 0.003
(D) - 0.005, — 0.007, 0.003, 0.0004

gfe 2x-1 4 2x+1 =320, 1 x T HF BN
(A) 3 B) 5
C) 7 (D) 9

T GEASAT BT AT 42 B YT I HEAH
THTIEd Td TEITH U ShasT: 6 Td
60 8| Iekd T3 o FeshHl T AN B

1 11 1 11
- o0 A) — B) —
A o ® o @) A 55 ®
13 7 13 7
© %o ® %o © %o ® %o
71.  The sum of two numbers is 42 and 71. T TS B AN 42 TH IR AHAH
LCM is 208. The two numbers are guIael 208 3 F1 G 8
(A) 12,30 (B) 14,28 (A) 12,30 (B) 14,28
(C) 18,24 (D) 16, 26 : (C) 18,24 (D) 16,26
72, IfP=25% of 25% 0f 200and Q= 100 | 72 & P =200 %1 25% 1 25% 7@
of 50% of 200, then P - Q = Q =200 T 50% T 10%, @9 P -Q =
(A) 12.5 (B) 2.5 (A) 125 (B) 2.5
(C) 10 (D) 60 (C) 10 (D) 60
T & o o0 e

Space for Rough Work

Set-A



6

32102/MB - BB/RCE - M

73. Population increasing rates of two 73. <a e P aur Q <hi SHEEn qrg TSR
countries P and Q are 20% and 3% per o o :
annum respectively. Present population 20% T 3% Ffd A 2 | PAu QF
of Pand Q are 7,00,000 and 10,00,000 SHEEAT SHAST: 7,00,000 91 10,00,000°F |
respectively. After how many years e . ¥
population of P will become more than T aE P Q¥ =g ?
that of Q ?

(A) 3 (B) 4 (A) 3 (B) 4
(C) 5 (D) None of these (C) 5 (D) 3 § His &l

74. Birth rate and death rate of a coun 74. Uh <N 6 TH @ TF g ¢ HAM: 5%
are 5% and 3% respectively. Pres ° g : ST
population of that country is 5 x 1 e Sf’ 8l "I
Then what will become populationfof 5x 1072 | 7 10 9 &g 38 41 1 371eg]
that country after 10 years ? feparft g1t 7
(A) 6x107 " (A) 6x107
(B) 107 (B) 107
(C) 7x107 (C) 7x107
(D) None of these (D) =8 ¥+ T

(0.5)* —(0.4)* 4 4
75. The value of B 5 is 75 (0.5 -(0.4) R IE R
(A) 0.09 (B) 0.90 (A) 0.09 (B) 0.90
3 3
76. The value of 76 (0.23)" - (0.01) IR
(0.23)% - (0.01)° " (0.23)%2 +0.0023 +(0.01)
(0.23)? +0.0023 + (0.01)°
(A) 0.22 (B) 0.24 (A) 0.22 (B) 0.24
(C) 0.21 (D) 0.23 (C) 0.21 (D) 0.23
T & & foru wom
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77.

78.

79.

Ifa:b=1:2,then find the ratio
(5m + 2n) : (5m —2n).

(A) 1:9

B) 9:1

C) 2:1

(D) None of these

A person sell a pen-drive at Rs. 500
makes 20% loss. If he wants to make

15% profit, then at what price (in R@
should he sell ?

(A) 625.00 (B) 725.15

(C) 718.75 (D) None of the

A trader purchases a watch and a b@

for Rs. 600. He sells them making
profit of 15% on watch and 10%
belt. He earns a profit of Rs. 72, th
buying prices of watch and belt
respectively

O

77.

78.

79.

32102/MB - BB/RCE - M

Iica:b=1:2%, q 3«
(5m + 2n) : (5m — 2n) ITd HIT |
(A) 1:9

B) 9:1

(C) 2:1

(D) ¥ | I3 &

T Afdd 500 . T Uk U9-318d 9=l &
3R 20% =1 a1 81 Afg 38 15% @w
SHUMT 8, @ 3H fopm Hwa (3. 7) T s=
BT 7

(A) 625.00 (B) 725.15

(C) 718.75 (D) 3 & +IE &
Tsh AR 600 &, T Ueh €S U dee
Tliedr 2| 98 U8 W 15% 1 27 ded T
10% WTH AT §U =T 8 | I8 72 7%, WA
Ifd et g, @ Tl F gee B Y oo
@Tﬂmz

(A) 360, 240 (B) 240, 360 = (A) 360, 240 (B) 240, 360
(C) 180, 420 (D) 420, 180 (C) 180, 420 (D) 420, 180

80. A certain sum becomes 2 timesimsd| 80. Tk UM HILRYT <1l & 5 T8 H 2 THT &1 it
5 years at simple interest, then in how 7, 5 M BH o Tord=T Tm o rm 7
many years it will become 5 times ?
(A) 12V years (B) 10 years (A) 12 = (B) 1099
(C) 20years (D) None of these (C) 2098 (D) T | g &l

T & o o0 e
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PART - A (jii)
omT — A (i)

32102/MB - BB/RCE - M

g &rren uel fergetson e

81. Find the missing character. 81. ﬁﬁq;ﬂgﬂaﬁaﬁﬁq|
F KLY FlKI|Y
H|F I[P H|F ([P
L E | ? L E | 2
(A) P (B) R (A) P (B) R
C) L (D) J (C) L (D) J
82. Find the missing number. 82. fuew 31 ! FTd X |
1 719 1 719
2 |14 | ? 2 |14 7
3 [105]117 3 |105]| 117
(A) 26 (B) 20 - (A) 26 (B) 20
(C) 16 (D) 12 (C) 16 (D) 12
83. Choose the Figure which is differe 83. 3 3MHfd & MU S I ¥ fir= 2|
from the rest.
(A) \, (B) 1—‘ (A) \, (B) M
(€) ) (D) % ] (C) ) (D) %
84. Find the odd one out. 84. fawm =i 94|
(A) Tortoise (B) Crab (A) g (B) gl
(C) Frog (D) Fish (C) we (D) =&l
85. Find the odd one out. 85. fomwm =i gfw |
(A) 100-121 (B) 144 -—225 (A) 100-121 (B) 144-—225
(C) 16-25 (D) 36— 49 (C) 16-25 (D) 36— 49
% & & o em

Space for Rough Work

-24-

Set-A



i

32102/MB - BB/RCE - M

86. Inthe given series what number should 86. fea ¥ Avft ¥ 31T 3Tk T IR ?
come next ? 4,7,9,12, 14,17
4,7,9,12, 14, 17, , 7,9,12,14,17,
(A) 21 (B) 20 (A) 21 (B) 20
(C) 19 (D) 18 (C) 19 (D) 18

87. Inthe given series what letters should 87. e T Avfl § 3TTeT 37 AT IR ?
come next ? AR RC
QAR, RCS, SET, TGU, ____ QAR, RCS, SET, TGU, .
(A) VIU (B) UIU (A) VIU (B) UIU
(C) THS (D) UIvV (C) THS (D) Ulv

88. Fig. (x) is embedded in any onegi 88. 3TTeR(d (x) =R ﬁmﬁﬁﬁ@ﬂ@%ﬁﬁ
the four alternative Figures. Find t foreht wes # wf=ifed & | 39 faehew =t @t
alternative which contains Fig.(x). e s1mefa (x) &1 |
W e X O e[ X e X
© |X7| o Z[} o |X7| © Z[>

89. Inagroup of 30 people, 14 read Fren@ 89. 30kl T | 14 %d, 16 3TN e
16 read English, while 6 of them e Hohd & | STafeh 6 37 SHI HINT <hl 1 U Fehd
none of these two. How many of th LY ey 2 i
read French and English both ? & 1T QT YT g Tk & 7
(A) 0 (B) 3 : (A) O (B) 3
(C) 6 (D) 8 (C) 6 (D) 8

e

90. Find out the two signs to be interchanged 90. Twfcta wishtor <l w&l s < for smmoe
for making following equation correct. T gl arel g1 TergHl w1 aaT o |
5+3x8-12/4=3 5+3x8-12/4=3
(A) +and — (B) —and/ (A) + 3R — (B) — 3/
(C) +and x (D) +and/ (C) +3M x (D) + 3/

T & o o0 e
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91. Which of the following diagrams 91. = 4 3 wia-mn fo ferss, amar-fuar wa
indicates the best relation between sfiraras =
Teacher, Parents and Guardians ? 6 W e H I o & 7
(A) @) (B) @ A) @) ®) @
(©) %Q (D) @ (©) O Q (D) @
92. 92. f=fafga § @ SH-11 U HoH e Ty
s osudaga g ?
C
A (B |B\UD
NZ
) (A) D@t it 3 & &
) (B) E 3 F @t i 3rmehet # 2
(C) EandD isin only two shapes (C) E 3R D %hae @ 3Tkt | &
(D) Fis in only two shapes (D) Fhad @ 3Tt | &
93. If Z=52 and MAT = 53, then JAT, 93. 3fg Z =52 3 MAT =53, a1 JAT SR
be equal to 2
(A) 62 (A) 62
(B) 50 (B) 50
(C) 53 (C) 583
(D) None of the above (D) 3IWed T ¥ I3 T&i
94. If MILITARY can be written as 94. 3fe MILITARY %1 1,2,3,2,4,5,6,7
1,2,3,2,4,5,6,7, then how can forgd 2, a1 TIMLI 1 8 forei 7
TIMLI be written in that code ?
(A) 2,3,1,4,2 (B) 4,2,1,3,2 (A) 2,3,1,4,2 (B) 4,2,1,3,2
(C) 4,2,1,5,7 (D) 3,4,5,1,6 (C) 4,2,1,5,7 (D) 3,4,5,1,6
% & & o em

Space for Rough Work

Set-A



i

95. A Cube is painted red on two adjacents
face and black on the faces opposite to
the red faces and green on the remaining
faces, is cut into 125 smaller cubes of
equal size, how many cube are there
which have no face painted ?

95.

32102/MB - BB/RCE - M

Teh 9 & g ATE Hofehl ol AT TT |
I AT HeAhl o [IURT HeTehl ol hicd
T Y YT I Hethl ol B TT A U= T
AT 2 | 319 39 89 1 125 SR HATHR
& BIE-BIC B § Hre fear Srar & | W

T < AT [1d B SRt IS off Bereh
U TE B2 |
(A) 16 (B) 25 (A) 16 (B) 25
(C) 27 (D) 64 E (C) 27 (D) 64
96. With reference to the following fCﬁB 96. U Si3H o HHfaRgd =R feufd c@e
positions of the dice, find out the num PIH-AT 375 T Bl 3 % TIoId B 7
which is opposite to the face 3. =
(A) 1 (B) 4 (A) 1 (B) 4
(C) 5 (D) 6 (C) 5 (D) 6
97. Two positions of a dice are shox@ 97. g@gﬁa@ﬁ:ﬂ%anﬁ%mﬁ?ﬂqﬁg
below, when 3 points are at the bottom
how many points will be at the top ' | R, e ﬁﬁ“w 3 ?
o o LA e o o o o
%o ° o o %o ° o o
°
o o e ° ° > e o e ° ° >
° o o
(A) 2 (B) 5 (A) 2 (B) 5
C) 4 (D) 6 C) 4 (D) 6
T & o o0 e
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98. Findthe number of triangle in the given

99.

100.

Figure.

*

N N A~~~
Somz
- O 00 O

What is the number of rectangle in e )| 99.

following Figure ?

(A
B

) 9
(B)
(C)
(D)

—

0
1

None of the above

—

D

Find the missing term in the followi Ag
questions.

98.

100.

32102/MB - BB/RCE - M

fea m fa3 # g it T 39

)=

SoTz

T & & foru wom
Space for Rough Work
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102.

PART-B
- B

HINDI/ &
gt adien st darl § Sfi-dig Ted o

98 YYH A | 39 & 98 |
(P T W T GaTal 1 AN Hifor |

(A) 3T | HET TS S T

(B) 310 T W @I g3

(C) 3T 1Y T I

(D) & I fieh 1 TEW &7 T

“Foo - I | g8 7T ggﬁﬁmla@

3 3
(A) ool T U T AT T BT

105.

E 106.
O

32102/MB - BB/RCE - M

T T g I B

(A) eam = fe Tgat ig & S |
(B) # Tfeam & fei wgat & S |
(C) H TedT =l TR & ST |
(D) TeEr o o7 wpat & Gadr |

e & & v weg w9 g |
HHATAH

(A
(B) HHwdl [

—

)
)
C) HgHI
(D) 39 H H g TE

(B) 3TTcHET AT

(C) 2T T AT T O 107. ‘ﬁﬁq‘fﬁa@wﬂéwé’wﬁ

(D) W & a1fg

(A) & HEE

103. “¥Td =, mml‘sﬁagl%:r?ﬁqé;m (B) fsram Haeht

39 Helad & Gdih 3Y 7 O (©) form weeh

(A) wwafiy (B) T=Hy ) (D) foaf e

(C) @ (D) Sgee

. 108. Treemmcas 31ef °§ ot O B

104, “@&mm”mm%g@m%sl' ) i 3 5 B

A) =T T §EAT

(D)t % A AT (D) ¥ Ul @ & |

T & o foTu wem

Space for Rough Work
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109. fr=fofiea o vy @ &

(A) T (B) 3m

©€) ¢ (D) 3w mfy
110. fr=fafaa o o =oH T8 8

(A) = B) &

(C) [ (D) 3

111. ffafga § Shfem s=e 2
(A) ueft (B) EX
(C) == (D) =T

112, F=fafEd o ThaeH-Sge=H 1 Tal=
T @
(A) -7
(©) EIBIBTID]

(B) =e-=e
(D) &=l

113.  STifdaT=es E31 vse § (fHia waares

115.

116.

117.

32102/MB - BB/RCE - M

STCT HTST TSR | “ShIeAT T6g H SIS
T I 3T AR 7

(A) ‘=g wreg w1 e firem

(B) ‘HIST ¥eg i I HATICA 83

(C) ‘=YeT Isg T HEd &g T

(D) = & *I3 Tl

H=r feu T wegi § AUy weg 1 =
T |

(A) Taerarn
(C) sga

(B) 33ar1
(D) sRmm

31eq formg ferga () <t 3w fope T @

forn ST B 7

(A) 99 TH & g 9 b Qg AL b
offter # Tg=rEeiy T 8 FE W

(B) SIS U Bl 365 WG b dIH AT 3T Weq
3T 3R 3o o foehed T Tg=aiesh
@, T9 3 W18 ! BIS N Ieql

N

(A) TTgHH (B) seuH R

c %@Té 5 m (C) THMTRIRT Feg] o st |
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